MZEL—Y—fHAEBREAXZEEARVBEEESH) 117.24 ki~ 117.2345 kni
[FRHIE A ) [20224F ] 11,723.45 ha
wng | mae | Ga | gmx | TEY | max | mane | osm
B |EAH% 1001 O |FIEPRII [BiE[H |FRE hEE 105.27
BRI |EA 1002| O |FIRKBRII [B:A[H |FRED hEFE 187.16
B |EAH% 1003| O |FIEPRII [B:E[H |FRE hEE 92.54
BAX BB 1004| O [FIEBR) |BAH  |RE hEE 181.99
BAY% |EAH% 1005 O |FIEPRII [B:E[TH |FRE hEE 126.84
HiAX |EFE#H 1006| O |PIEPRII |BAIH |RE hEFE 151.71
B |EAH% 1007| O |FIEPRII [B:E[H |FRE hEE 173.78
BAX BB 1008| O [FIEBR)I |BAH  |RE Y XN 138.13
B Y |EA# 1009| O [FIEBR)I |BAT |RE KB A 61.11
A% |E&A# 1010 O [FIEBR)I |BAH  |RE KE T A 97.00
A% |EA# 1011 0 [FIER) |BAT |RE KRBT A 64.77
A% |E&A# 1012 0 [FIKBRN |BAH |RE hE 56.66
BAY% |EAH% 1013 O |[FIRPRII [BiE[H |FRE FE 117.41
BAX |E&EW 1014| 0 |[FIRKBRII [B:A[H |FRED -4 128.12
B |EAH% 1015 O |FIEPRII [BiE[H |FRE A= 135.50
BAX |EAW 1016| O |FIRBRII [BA[H |FRED -4 243.81
B |EAH% 1017 O |FIEPRII [BiE[H |FRE A= 152.07
BAX |EAW 1018| O |FIRBRII [B:A[H |FRED -4 92.61
B |EAH% 1201 O (FIKR) |AENT |EH MR 182.99
BAX |EAW 1202 O |FIEBRII [ENF [ZEH RE 185.09
BAX% |EAH% 1203| O (FIEKR) |ZAENT |EH % e 132.05
BAX |EAW 1204 O |FIEKBRI [ZBEE)IT [ZEH =1L 153.15
A% |EA# 1205 o [BIECPRII |ENIFT A RE 219.34
BAX |EAW 1206| O [FIEKR) |FEHF |ZEH EX 66.99
A% |EA# 1207 o |(RIEER/I |TFHEHF |EH EX 76.30
BRI |EAE 1208| O [(FIEKRR) |FEHF |ZEH EX 185.44
BAY |EAM 1209 O |FIKBR)II [FEF [ZEH ZERE 54.46
BAX |EAW 1210 O |FIKBR)II |[FEF [ZEH ZEHE 58.87
B Y |EA# 1211 o [RFIEERI |TFEF |EH EX 149.31
BAX |EAW 1212 0 |FIKR)I |[FEFS [ZEH EX 91.70
BAY |EAM 1213 0 [FIEBRN |ENF |EH FHIR 95.58
BAX |EAW 1214 0 |FIEBRII [ENF  [ZEH FHIR 97.58
BAY |EAMH 1215 0 [FIEBRN |ENF |EH FHIR 136.51
BAX |EAW 1216 0 |FIEBRII |ENF  [ZEH FHIR 133.73
BAY% |EAH% 1217 0 [(FIER)N |FEHF |EH HHE 102.70
BAX |EAW 1218 0 |FIKBR)II |[FEFS [ZEH FHE 90.68
B |EAH% 1219 0 |FIEBR)I [FEF [ZEH FE 106.15
BRI (EA 1220, O (FIEKRR)N |FEF |ZEH FE 100.72
BAY |EAH 1221 0 |FIKPRII [HERET | KR nH 148.50
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MZEL—Y -t REB(BAXZEENRVBEEER W)

117.24 kni

117.2345 kni

(#YEEFE) (20225 %] 11,723.45 ha
wng | mae | Ga | gmx | TEY | max | mane | osm
BRI |EBE#H 1222 0 (FIER)I | HEXET | KR FE 175.12
Bl |EB# 1223 0 (PRI |HBERET (KR FERN 82.70
BRI |EBE#H 1224| 0 (FIKPR)I | HEXET | KR WA{R85 91.33
Bl |EBE# 1225 0 (FIEFR)I |HBERET (KR EFEME 43.65
BRI |EBE#H 1226 0 |(RIKER)I |TFHEHF |ZEH L 79.96
BRI (EfE#H 1227| 0 |FIEBR)I |[FEF [ZEH =H 152.05
BRI |EBE#H 1228 0 [FIEPR)I | HEXET | KR Ft 117.28
Bl |EBE# 1229 O (FIEFR)I |HBERET (KR /e 263.82
HAX BB 1230 O (FIEMRRII |HBExET | KR PN 188.17
Bl |EBH# 12311 0 (PR | HEXET | KR PN 167.49
BRI |EBE#H 1232 0 (IR |HBExET (KR pNIN 137.12
Bl |EBE# 1233 0 (FIEFR)I |HBERET (KR PN 179.95
HAX |EBE#H 1234 0 (FIEMRRII |HEXET | KR pNIN 191.66
Bl |EBH# 1235 O (FIEMR)I |HBERET (KR Ef 106.68
BRI |EBE#H 1236 O (FIEMR)I |HEXET | KR TV 87.02
Bl |EBE# 1237 0 (FIEFR)I |HBERET (KR FTY 82.37
BRI |EBE#H 1238 O (FIEMR)I |HEXET | KR TV 139.90
Bl |EBE# 1239 0 (FIEFR)I |HBERET (KR FTY 189.24
HAX |EBE#H 1240 o (PRI |HEXET | KR TV 209.48
Bl |EBE# 1241 0 (PRI |HBERET (KR TV 221.00
=P - [ESE=p N 1242 0 |FIKPRII [HERET | KR BREL 234.48
Bl |EBE# 1243 0 (PRI |HBERET (KR FTY 174.99
BRI |EBE#H 1244 o (FIEMRR)I |HEXET | KR TV 195.61
Bl |EBE# 1245 0 |(BIECERJI |HERET  |4&E) =H11D1 179.24
=P - [ESE=p N 1246| 0 |FIEPRII [HERET  [#)1 =%11m1 146.28
Bl |EBE# 1247 o |(RIEERJI |HEXET  |4&) =#8 61.14
BRI (EFH 1248| 0 |FIEBR)I [HERET  [#&)1 =S8 116.29
Bl |EBE# 1249 0 |(RIEER/I |HEXET  |H&) =H11D1 129.40
BRI (EFH 1250| O |FAIEBRII [HERET  [#&)1] =%11m1 135.06
Bl |EBE# 1251 O |(BIECRRJI |HERET  |4&) =H%1101 79.87
BRI (EFH 1252 0 |FIEBRII [HERET  [#&)1 =%11m1 187.05
Bl |EBE# 1253 0 |(BAIECRRJI |HERET  |4&) =H%1101 95.59
BRI (EFH 1254| 0 |FIEBR)I [HERET  [#&)1 =%11m1 171.46
Bl |EBE# 1255 O |(BIECRRJI |HERET  |4&) =H11D1 115.19
BRI (EFH 1257 0 |FIEBRII [HERET  [#&)1 =%11m1 189.31
Bl |EBE# 1259 O |(BIECRRJI |HERET  |4&E) =H%1101 294.48
BRI (EF#H 1260 O |FIEPR)II [HERET  [#&)1] =H%11m1 142.86
Bl |EBE# 1261 O |(BIECERJI |HEXET  |4&) =H11D1 301.83
BRI (EFH 1262 0 |FIEPR)II [HERET  [#&)1 g 106.50

<2>




MZEL—Y -t REB(BAXZEENRVBEEER W)

117.24 kni

117.2345 kni

(#YEEFE) (20225 %] 11,723.45 ha
wng | mae | Ga | gmx | TEY | max | mane | osm
=P - [ESE=p N 1263 0 |FIEPRII [HERET  [#&)1 £Y 82.27
BRI (EfE#H 1264| 0 [FIEPR)I | HEXET  |4&)I FH 96.02
=P [ESE=p 1265 O |FIEPRIII [HERET  [#&)1] = 133.41
B5 E&#® 324 0 |RIERJI |BRILTH  |/MNEFET |t/ 96.27
25 EH#* 325| O (FIEBRN |BBIUT  [/NEFET |4 183.27
B5 E&#® 326 O |RIEPRJI (BRILT  |/MEFET |SERLSH 96.94
25 EH#* 327| O (FIEBRN |BBLUT |[/NEFET |4 80.81
B5 E&#® 328 0 |RIEPRJI |[BRILTH  |[/DEFET [TV SM 117.52
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